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MONTH OF NOVEMBER 

TEST III 
UNIT III GEOGRAPHY OF INDIA 

 
1. Who is the father of population geography? 

a. Trewartha   b. Benitton Suess 
c. Stephen Hawking  d. Deni Thomas 
kf;fs; Gtpapaypd; je;ij ahh;?  
a. j;hpth;j;jh    b. ngdpl;ld; #];  
c. ];Bgd; `hf;Fd;];  d. Nldp jhk];  

 
2. The formula for net migration rate is 

a. N = 1000 х (I - P) / E  b. N = 100 х (I - E) / P 
c. N = 1000 х (I - E) / P  d. N = 100 х (I - P) / E 
nkhj;j ,lg;ngah;r;rp tpfpjj;jpw;fhd #j;jpuk;  
a. N = 1000 х (I - P) / E  b. N = 100 х (I - E) / P 
c. N = 1000 х (I - E) / P  d. N = 100 х (I - P) / E 

 
3. Which countries has the highest and lowest fertility rate 

a. China and Niger   b. India and Singapore 
c. Singapore and Niger  d. Niger and Singapore 
ve;j ehLfspy; mjpf kw;Wk; Fiwe;j fUTWjy; tpfpjk; cs;sJ?  
a. rPdh kw;Wk; ie[h;   b. ,e;jpah kw;Wk; rpq;fg;G+h;  
c. rpq;fg;G+h; kw;Wk; ie[h;  d. ie[h; kw;Wk; rpq;fg;G+h;  

 
4. Which country has the highest sex ratio in the world? 

a. Somalia  b. Latvia  c. India   d. China 
cyfpy; mjpf ghypd tpfpjk; nfhz;l ehL vJ?  
a. nrhkhypah  b. yl;tpah  c. ,e;jpah   d. rPdh  

 
5. Which of the following Indian states account for about 70% of all illiterates 

in India? 
1. Uttar Pradesh  2. Rajasthan  3. Madhya Pradesh   
4. Bihar   5. Andhra Pradesh 6. West Bengal 
a. 1, 2, 3, 5  b. 1, 2, 3   c. 1, 2, 4, 6  d. All of the above 
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gpd;tUk; khepyq;fspy; 70% vOj;jwptw;wth;fs; cs;s ,e;jpa khepyk; vJ?  
1. cj;jpugpuNjrk;  2. ,uh[];jhd;   3. kj;jpa gpuNjrk;   
4. gPfhh;    5. Me;jpugpuNjrk; 6. Nkw;F tq;fk; 
a. 1, 2, 3, 5  b. 1, 2, 3   c. 1, 2, 4, 6  d. midj;Jk;  

 
6. Which pyramid depict population with the larger percentage of people in 

younger age groups? 
a. Expansive Age – Sex pyramid b. Constrictive Age – sex pyramid 
c. Both a & b     d. None of the above 
kf;fs; njhifapy;> mjpf rjtPjj;jpy; ,isa tajpdiu nfhz;l kf;fis 
rpj;jhpf;Fk; gpukpL vJ?  
a. tphpthf;fk; ghypd taJ gpukpL  
b. fl;LgLj;jg;gl;l taJ – ghypd gpukpL  
c. a & b ,uz;Lk;  
d. vJTkpy;iy  

 
7. Which of the following forms the Tripura literacy success? 

1. Near – total absence of child labour 
2. policy of no fail till class X 
3. Involvement of local bodies, NGO’s 
4. No tuition fee in government colleges 
a. all the above   b. 1, 2  c. 1, 2, 4  d. 1, 3, 4 
gpd;tUtdtw;Ws; jphpGuhtpd; fy;tpawpT ntw;wpf;fhd tbtk; vJ?  
1. KO Foe;ij njhopyhsh; ,d;ik  
2. gj;jhk; tFg;G tiu Njhy;tp ,y;iy vd;w nfhs;if  
3. cs;@h; mikg;Gfs;> NGO-tpd; <LghL  
4. muR fy;Y}hp tiu fy;tp fl;lzk; ,y;iy  
a. Nkw;fz;l midj;Jk; b. 1, 2   c. 1, 2, 4  d. 1, 3, 4  

 
8. Which is the only Dravidian language, not known to have been written in 

Brahmi based script? 
a. Arabic Script Brahui   b. Dravidian Script 
c. Brahmi Script     d. a & c 
gpuhkp mbg;gilapyhd vOj;Jtbtpy; vOjg;glhj xNu jpuhtpl nkhop vJ?  
a. mugpf; vOj;Jtbt gpuhFap  b. jpuhtpl vOj;Jtbtk;  
c. gpuhkp vOj;Jtbtk;   d. a kw;Wk; c  

 
9. The percentage of tribal to total population in India is? 

a. 9.2%  b. 8.6%  c. 9.9%  d. 8.2% 
,e;jpahtpYs;s nkhj;j kf;fs; njhifapy; goq;Fbapdh; vt;tsT rjtPjk; 
cs;sdh;?  
a. 9.2%  b. 8.6%  c. 9.9%  d. 8.2% 



 

3 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  
 

10. Which tribes are the most dangerous tribe in the world? 
a. Angami tribe    b. Sentinelese tribe 
c. Both a, b    d. Eskimos tribes 
cyfpy; cs;s gq;Fbapd kf;fspy; ve;j goq;Fbapdh; kpfTk; 
Mgj;jhdth;fs;?  
a. mq;fhkp goq;Fbapdh;  b. nrd;bdy;]; goq;Fbapdh; 
c. a kw;Wk; b ,uz;Lk;   d. v];fpNkh]; goq;Fbapdh;  

 
11. According to 2011 census, tribal population in Tamilnadu is about? 

a. 7, 94, 697  b. 8, 94, 697 c. 7, 96, 647  d. 8, 96, 647 
2011 Mk; Mz;L kf;fs;njhif fzf;nfLg;gpd;gb> jkpo;ehl;bYs;s 
goq;Fbapd kf;fs;njhif vt;tsT?  
a. 7, 94, 697  b. 8, 94, 697 c. 7, 96, 647  d. 8, 96, 647 

 
12. Which tribes of Tamilnadu are known for their black magic and witch craft 

in the past? 
a. Irula  b. Kota  c. Paliyan  d. Kurumbas 
jkpo;ehl;by; ve;j goq;Fbapdh; fle;j fhyq;fspy; ke;jputhjk; kw;Wk; 
khatpj;ijf;F ngah; ngw;wth;fs;?  
a. ,Ush  b. Nfhlh  c. gypahd;  d. FUk;gh;fs;  

 
13. Which of the following linguistic families belong to Indian languages? 

1. Austric   2. Dravidian 3. Sino Tibetan 4. Indo Aryan 
a. 1, 2   b. 2, 3   c. 2, 4 d. All the above 
gpd;tUk; ve;j nkhopapay; FLk;gq;fs; ,e;jpa nkhopfisr; Nrh;e;jit? 
1. M];l;hpf;   2. jpuhtplk;  3. irNdh jpngj;jpad;  
4. ,e;Njh Mhpad;  
a. 1, 2   b. 2, 3   c. 2, 4 d. midj;Jk;  

 
14. A distinct linguistic form peculiar to a region or social group but which 

nevertheless can be understood by speakers of other forms of same 
language is? 
a. Dialect   b. Frontier  c. languages d. Ural 
xU gpuNjrj;jpd; jdpj;Jtkhd nkhop tbtk; my;yJ r%ff;FO vJthf 
,Ug;gpDk;> mNj nkhopapd; gpwtbtq;fspd; Ngr;rhsh;fs; Ghpe;Jnfhs;Sk; 
tifapy; cs;sij ,t;thW miof;fpNwhk;.  
a. fpisnkhop  b. vy;iy  c. nkhopfs;  d. A+uy;  

 
15. A potentially damaging physical event or human activity which may cause 

the loss of life or injury is termed as 
a. Hazard  b. Disaster  c. Disruption  d. Risk 
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caphpog;G my;yJ ,ila+W Vw;gLj;jf;$ba ,aw;if my;yJ kdpj 
nray;ghL vt;thW miof;fg;gLfpwJ? 
a. NguopT  b. Nghplh;  c. ,ilA+W  d. Mgj;J  

 
16. The activities that will minimize disaster related losses of life and property 

is 
a. Disaster Risk management  b. Planning 
c. Mitigation     d. Disaster Risk Reduction 
Nghplh;fs; NghJ caph; kw;Wk; nrhj;J ,og;Gfisf; Fiwf;Fk; 
eltbf;ifapd; nganud;d?  
a. Nghplh; Nkyhz;ik    b. jpl;lkpLjy;  
c. ,lg;ngah;T     d. Nghplh; jzpg;G  

 
17. A sudden rush of a crowd of people, usually resulting in injuries and death 

from suffocation and trampling is 
a. Stampede  b. Accident  c. Rushing  d. Drown 
kf;fs; $l;lj;jpy; jpBh; neUf;fj;jpdhy;> fhaq;fs; Vw;gLjy;> %r;Rj; 
jpzwy;> kpjpj;jy; Mfpatw;wpy; kuzk; Vw;gLtJ vt;thW miof;fg;gLfpwJ. 
a. $l;l nehpry;  b. tpgj;J    c. neUf;Fjy; d. %o;fb  

 
18. Which of the following is the mock drill to escape a fire? 

a. stop, drop, roll   b. roll, drop, stop spread 
c. roll and drop    d. Bend and roll 
neUg;gpypUe;J jg;gpf;f gpd;tUtdtw;wpy; vJ khjphp gapw;rp? 
a. epWj;J> rpwpjsT ePH> cUl;ly;  
b. cUl;ly;> rpwpjsT ePh;> gutiy epWj;Jjy;  
c. cUl;ly; kw;Wk; rpwpjsT ePh;  
d. tis kw;Wk; cUl;ly;  

 

19. Which of the following forms the principle hazards in Industrial hazard? 
1. Fire   2. Explosion 
3. Toxic release  4. Environmental damage 
a. 1, 2, 4   b. 1, 2, 3  c. 1 & 2 d. All the above 
njhopy;Jiw Mgj;jpy;> nfhs;if Nguopit gpd;tUtdtw;wpy; vJ 
cUthf;FfpwJ?  
1. jP    2. ntbg;G  
3. er;R ntspaPL  4. Rw;W#oy; ghjpg;G  
a. 1, 2, 4   b. 1, 2, 3  c. 1 & 2 d. midj;Jk;  

 

20. Which gas leaks from union carbide pesticide plant lead to the Bhopal gas 
disaster on December 3, 1984? 
a. Methyl cynate   b. Ethyl Isocynate 
c. Methyl Isocynate   d. Methyl Carbide 
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1984> brk;gh; 3 md;W Nghghy; thA NguopTf;F fhuzkhd A+dpad; fhh;igL 
G+r;rpf;nfhy;yp MiyapypUe;J frpe;j thAtpd; nganud;d?  
a. kPj;ijy; irNdl;   b. vj;jpy; INrhirNdl; 
c. kPj;ijy; INrhirNdl;  d. kPj;ijy; fhh;igL  

 
21. Road Accident is estimated 1.34 million people killed every year, is the ___ 

leading cause of death globally? 
a. 2nd   b. 5th   c. 8th   d. 10th 
cyfstpy; rhiy tpgj;jhy; xt;nthU Mz;Lk; 1.34 kpy;ypad; kf;fs; 
nfhy;yg;gLtjhf kjpg;gpl;Ls;sJ. ,J kuzj;jpw;F _______ Kf;fpa fhuzk;  
a. 2nd   b. 5th   c. 8th   d. 10th 

 
22. A global blueprint for disaster risk reduction efforts between 2005 and 2015 

– by providing specific operational guidance for promoting disaster risk 
reduction is 
a. Hyogo framework for action  b. Sustainable development goals  
c. Both a & b     d. Preparedness 
2005 kw;Wk; 2015 f;F ,ilapy; cyfshtpa Nghplh; mgha Fiwg;G 
Kaw;rpfspy;> Nghplh; mgha Fiwg;ig Cf;Ftpf;f> nray;gl;L te;j 
Fwpg;gpl;l topfhl;Lk; tiuglk; vJ?  
a. nraYf;fhd `pNahNfh fl;likg;G  
b. epiyahd ePbj;j tsh;r;rp ,yf;Ffs;  
c. a kw;Wk; b ,uz;Lk;  
d. jahuhapUj;jy;  

 
23. The spreading speed of low fire is 

a. 1-3 m/sec  b. 3-5 m/sec c. 4-6 m/sec d. 6-8 m/sec 
Fiw neUg;gpd; guty; Ntfk; vt;tsT?  
a. 1 – 3 kP / tpdhb   b. 3 – 5 kP / tpdhb  
c. 4 – 6 kp / tpdhb  d. 6 – 8 kP / tpdhb 

 
24. Which one of the following is the Rule of Action for Stampede? 

a. Find lower place or cavity and squat there if the area is open 
b. Avoid Rock slides and landslides 
c. Keep your hands by your chest 
d. Keep your head no higher than 30cm above the floor 
gpd;tUtdtw;wpy; vJ $l;l nehpr;rypUe;J jg;gpf;f> nray;gLj;Jk; tpjp?  
a. jpwe;jpUf;Fk; gFjp my;yJ ntw;wplj;jpd; jho;thd ,lj;ij fz;lwpe;J> 

mkUjy; 
b. ghiwr;rhpT kw;Wk; epyr;rhpit jtph;f;fTk;  
c. iffis khh;Gld; Nrh;j;J itj;Jf; nfhs;Sjy; 
d. cq;fs; jiyia jiuapypUe;J 30 nr.kP f;F Nky; itf;fhjpUj;jy;  
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25. Find out the correct statements: 
i. Demography is the statistical study of human population 
ii. Four birth take place every second in the world 
a. i, ii  b. i only  c. ii only  d. none 
jtwhd $w;iwj; Nju;e;njL. 
i. nlkhf;uh/gp vd;gJ kf;fs;njhifg; gw;wp tpsf;Fk; xU 

Gs;sptptug;gbg;ghFk;. 
ii. cyfpy; xU nehbf;F ehd;F Foe;ijfs; gpwf;fpd;wdu;. 
a. i, ii   b. i kl;Lk;  c. ii kl;Lk;  d. VJkpy;iy 

 
26. Which of the following factors influencing the distribution of population? 

i. Relief  ii. Accessibility  iii. Adequate water supply  iv. Soil 
a. i, ii, iv  b. i, iii, iv  c. ii, iv  d. All the above  
kf;fs;njhifg; gutiyg; ghjpf;Fk; fhuzpfs; vit? 
i. epyj;Njhw;wk;    ii. mZff;$ba miktplk; 
iii. epiwthd ePu; mspg;G  iv. kz; 
a. i, ii, iv  b. i, iii, iv  c. ii, iv d. Nkw;$wpa midj;Jk; 

 
27. Ten most populous countries of the world together make up nearly 

________ of the world’s population.  
a. 40%  b. 50%  c. 60%  d. 70% 
cyfpy; gj;J kpf mjpf kf;fs;njhiff; nfhz;l ehLfs; Nru;e;J cyfpd; 
______ kf;fs;njhifiaf; nfhz;Ls;sd. 
a. 40%  b. 50%  c. 60%  d. 70% 

 
28. Choose the correct statements: 

i. Nutritional density is the ratio between total population and total 
cropped area.  

ii. The total arable land in the world is 12.9%.  
iii. The nutritional density of the world is 325 per sq.km of land.  
a. i, ii   b. i, iii  c. ii, iii  d. i, ii, iii 
rupahd $w;wpid Nju;e;njL. 
i. Cl;lr;rj;J mlu;j;jp vd;gJ nkhj;j kf;fs;njhiff;Fk;. nkhj;j 

gapuplg;gl;l gug;gsTf;Fk; ,ilNaahd tpfpjhr;rhuk;. 
ii. cyfpd; tpisepyk; 12.9%. 
iii. cyfpd; Cl;lr;rj;J mlu;j;jp tPjk; xU rJu fpNyhkPl;lUf;F 325 Ngu;. 
a. i, ii   b. i, iii  c. ii, iii  d. i, ii, iii 

 

29. Which country has the highest nutritional density in the world? 
a. Singapore  b. Malaysia  c. Australia   d. Norway 
cyfpy; kpf mjpfkhd Cl;lr;rj;J mlu;j;jp nfhz;l ehL? 
a. rpq;fg;G+u;  b. kNyrpah  c. M];jpNuypah  d. ehu;Nt 
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30. Population density means 
a. No. of persons living below poverty line 
b. No. of persons living per sq.km 
c. No. of persons in a village 
d. No. of persons living per km 
kf;fs;njhif mlu;j;jp vd;gJ. 
a. tWikf;Nfhl;bw;F fPo; cs;s egu;fspd; vz;zpf;if. 
b. xU rJu fpNyhkPl;lu; gug;gstpy; thOk; egu;fspd; vz;zpf;if  
c. xU fpuhkj;jpYs;s egu;fspd; vz;zpf;if.  
d. xU fpNyhkPl;lupy; trpf;Fk; egu;fspd; vz;zpf;if 

 
31. The population of India is expected to surpass China in __________ 

a. 2022  b. 2023  c. 2024  d. 2025 
,e;jpahtpd; kf;fs;njhif rPdhit kpQ;rptpLk; vd vjpu;g;ghu;f;fg;gLfpd;w 
Mz;L ________. 
a. 2022  b. 2023  c. 2024  d. 2025 

 
32. Choose the correct statements: 

i. India population is 17.74% of the total world population.  
ii. The population density of India is 455 per km2. 
iii. 33.6% of the population is urban in India. 
a. i and ii  b. i only  c. iii only  d. All of these 
rupahd $w;wpidj; Nju;e;njL. 
i. ,e;jpah cyfpd; kf;fs;njhifapy; 17.74% ia nfhz;Ls;sJ. 
ii. ,e;jpahtpy; kf;fs;njhif mlu;j;jp rJufpNyhkPl;lUf;F 455 Ngu;. 
iii. ,e;jpahtpy; 33.6% Ngu; efu;g;Gw kf;fs;. 
a. i kw;Wk; ii b. i kl;Lk;  c. iii kl;Lk; d. Nkw;$wpa midj;Jk; 

 
33. Consider the following statements: 

Assertion (A): October 12 is celebrated as the Day of 6 Billion. 
Reason (R): According to the United Nations, the 6 billion figures was 
reached on October 12, 1999. 
a. Both A and R are correct and R is the correct explanation of A 
b. A is true, but R is false 
c. A is false, but R is true 
d. Both A and R are true and R is not the correct explanation of A 
gpd;tUtdtw;iw Muha;f. 
$w;W (A):  mf;Nlhgu; 12 Mk; ehs; 6 gpy;ypad; ehs; vd  
   nfhz;lhlg;gLfpwJ. 
fhuzk; (R): I.eh. rigapd; $w;Wg;gb 1999 Mk; Mz;L mf;Nlhgu; 12  
   Mk; ehs; cyf kf;fs;njhif 6 gpy;ypaid mile;jJ. 
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a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 
tpsf;fk;. 

b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk; my;y 
 
34. Consider the following statements: 

I. Language is the primary instrument for transmitting culture. 
II. India has the world’s second highest number of languages after 

Papua New Guinea 
a. I, II correct  b. I only correct   c. II only correct  d. I, II incorrect 
gpd;tUk; thf;fpaq;fis ftdpf;fTk;. 
I. nkhop fyhr;rhuj;ij gug;Gk; xU gpujhd fUtpahFk;. 
II. gg;Gth epA+ fpdpahtpw;F gpwF> ,e;jpah cyfpd; ,uz;lhtJ mjpf 

nkhopfisf; nfhz;l ehlhFk;. 
a. I, II rhp  b. I kl;Lk; rhp  c. II kl;Lk; rhp  d. I, II jtW 

 
35. The Indie cultural realm is called as paddy culture by 

a. D. Stamp b. Baker   c. Weber   d. Carl Ritter  
,e;jpa fyhr;rhuj;ij ney; fyhr;rhuk; vd;W mioj;jth; ahh;? 
a. b. ];lhk;g; b. Ngf;fh;  c. ntgh;  d. fhh;y; hpl;lh; 

 
36. Choose the correct statements about the Negroid? 

i. Negroid are called as “black race” 
ii. They have the darkest skin tone than other races. 
iii. Living in sub-Sahara Africa. 
a. i, ii and iii  b. i and ii  c. i and iii  d. ii and iii 
ePf;uha;L Fwpj;j thf;fpaq;fspy; rhpahdJ vJ? 
i. ,th;fs; “fUg;G ,dj;jth;” vd;W miof;fg;gLfpwhh;fs;. 
ii. gpw ,dj;jth;fis fhl;bYk; mjpf fUg;G epwj; Njhypid 

nfhz;Ls;sdh;. 
iii. ,th;fs; Mg;gphpf;fhtpd; Jiz r`huh gFjpfspy; trpf;fpd;wdh;. 
a. i, ii kw;Wk; iii  b. i kw;Wk; ii c. i kw;Wk; iii d. ii kw;Wk; iii 

 
37. Which of the following statements is/are correct? 

i. The Caucasoid is known as “White people”. 
ii. Native Americans and Eskimos are classified as Caucasoid  
iii. Living in Europe and Middle East  
a. i, ii and iii  b. i and iii  c. i and ii  d. ii and iii 
gpd;tUk; $w;Wfspy; vJ/vit rhpahdJ. 
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i. fhfrha;L kf;fs; “nts;isah;fs;” vd miof;fg;gLfpd;wdh;. 
ii. fhfrha;L> mnkhpf;fh;fs; kw;Wk; v];fpNkhf;fs; vd;W 

tifg;gLj;jg;gLfpd;wdh;. 
iii. ,th;fs; INuhg;gh (k) kj;jpa fpof;F ehLfspy; trpf;fpd;wdh;. 
a. i, ii kw;Wk;  iii  b. i kw;Wk; iii c. i kw;Wk; ii  d. ii kw;Wk; iii 

 
38. Which among the following tribes are engaged in tea cultivation and potato 

growing? 
a. Todas   b. Badagas   c. Kotas  d. Kurumbas 
Njapiy kw;Wk; cUisf;fpoq;F rhFgb nra;J tUk; goq;Fbapd FO 
vJ?  
a. Njhlh;fs; b. gLfh;fs;  c. Nfhlh   d. FUk;gh;fs;  

 

39. Which of the following statements about Irulas tribe is/are correct? 
i. This tribes occupy the lower slopes and forests at the base of the 

Nilgiri hills.  
ii. They constitute the second largest group of tribes after the Badagas  
iii. Similar to the Badagas in many ways.  
a. i, ii and iii  b. i and ii  c. ii and iii  d. i and iii 
,Ush;fs; Fwpj;j $w;Wfspy; vJ / vit rhpahdJ?  
i. ePyfphp kiyapd; mbthuj;jpy; cs;s jho;thd rhpTfspYk; 

fhLfspYk; fhzg;gLfpd;wdh;.  
ii. ,th;fs; gLfh;fSf;F gpwF ,uz;lhtJ kpfg; nghpa goq;Fbapduhth;  
iii. ,th;fs; gy topfspy; gLfh;fisg; Nghd;wth;fs;  
a. i, ii kw;Wk; iii  b. i kw;Wk; ii  c. ii kw;Wk; iii   d. i kw;Wk; iii 

 

40. Which of the following tribal group originally belonged to the Palani Hills? 
a. Todas   b. Kurumbas   c. Paliyan  d. Badagas  
gpd;tUgth;fspy; godp kiyiar; Rw;wpAs;s gFjpfspy; thOk; 
goq;Fbapdh; ahh;?  
a. Njhlhf;fs; b. FUk;gh;fs;  c. ghypahd; d. gLfh;fs;  

  

41. Consider the following statements about Tamil Language: 
I. The earliest period of Tamil literature Sangam literature is dated from 

AD 300 – AD 600. 
II. It has the oldest extant literature among Dravidian language.  
a. I, II are correct   b. I only is correct  
c. II only is correct   d. Both are incorrect 
jkpo; ,d nkhop Fwpj;j $w;Wfspy; rhpahdJ vJ?  
I. jkpo; ,yf;fpaj;jpd; Ke;ija fhyk; ngh.M.K. 300 Kjy; ngh.M.K. 

600 tiu cila rq;f ,yf;fpa fhykhFk;.  
II. jpuhtpl nkhopfspy; jkpo;jhd; kpfg; goikahd ,yf;fpaq;fis 

nfhz;Ls;sJ.  
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a. I, II rhpahdJ   b. I kl;Lk; rhp  
c. II kl;Lk; rhp   d. ,uz;Lk; jtW  

42. The languages of the world was classified into 7 linguistic phylum and 30 
linguistic families by  
a. Merritt Ruhlen  b. Joseph H Greenberg 
c. GL Trage    d. Cavalli – Sforza 
cyf nkhopfis 7 nkhopj;njhFjp kw;Wk; 30 nkhopf; FLk;gq;fshf 
tifg;gLj;jpAs;sth; ahh;?  
a. nkhpl;U`;yd;   b. N[hrg; vr; fphPd;ngh;f;  
c. [p.vy;. l;Nu[;   d. fhty;yp-];/Nghh;]h  

 
43. Consider the following statements: 

I. In India, 23 major languages were spoken by about 97 percent 
population. 

II. 22 languages excluding English are mentioned in the eight schedule 
of the Indian constitution.  

a. I, II are incorrect   b. I only is correct  
c. II only is correct   d. Both are correct 
gpd;tUk; thf;fpaq;fis ftdpf;f.  
I. ehl;by; 97 rjtpfpj kf;fshy; 23 Kf;fpa nkhopfs; Ngrg;gLfpd;wd.  
II. Mq;fpyk; jtph;j;J 22 nkhopfs; ,e;jpa murpayikg;gpd; vl;lhtJ 

ml;ltizapy; Fwpg;gplg;gl;Ls;sd.  
a. I, II jtW     b. I kl;Lk; rhp  
c. II kl;Lk; rhp     d. ,it midj;Jk; rhp  

 
44. Which of the following is/are correctly matched pair/s? 

i. 21st Amendment Act   - Sindhi 
ii. 71st Amendment Act   - Konkani, Manipuri and Nepali 
iii. 92nd Amendment Act  - Bodo, Dogri, Maithili and Santali 
a. i, ii and iii  b. i and ii  c. ii and iii  d. i and iii 
nghUj;jkhd ,izia Njh;T nra;f.  
i. 21-tJ murpayikg;G rl;ljpUj;jk;  - rpe;jp  
ii. 71-tJ murpayikg;G rl;ljpUj;jk; - nfhq;fdp> kzpg;G+hp & Neghsp 
iii. 92-tJ murpayikg;g rl;ljpUj;jk; - NghNlh> Nlhf;hp> ikjpyp> rhe;jpdp 
a. i, ii kw;Wk; iii  b. i kw;Wk; ii c. ii kw;Wk; iii   d. i kw;Wk; iii 

  
45. Which of the following is/are incorrectly matched? 

Linguistic Family  Languages  
i. Austric   - Munda, Mon-Khmer  
ii. Sino-Tibetan   - Bodo, Karen, Manipuri 
iii. Indo-Aryan  - Hindi, Urdu 
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a. i and ii only  b. iii only  c. ii only  d. none 
 
jtwhd ,iziaj; Njh;T nra;f.  
nkhopf; FLk;gk;   nkhop  
i. M];l;hpf;   - Kz;lh> Nkhd; - fpkph;  
ii. irNdh – jpngj;jpa  - NghNlh> fhPd;> kzpg;g+hp 
iii. ,;e;Njh – Mhpa  - `pe;jp> cUJ  
a. i kw;Wk; ii  b. iii kl;Lk;  c. ii kl;Lk;  d. vJTkpy;iy  

   
46. Consider the following statements: 

I. According to a report of the census Directorate, there are 22 
scheduled languages. 

II. In India, 42 languages spoken by less than 10000 people.  
a. I, II are correct   b. I only is correct  
c. II only is correct   d. Both are incorrect 
gpd;tUk; thf;fpaq;fis ftdpf;fTk;  
I. kf;fs; njhif fzf;nfLg;gpd; gb> 22 gl;bayplg;gl;l nkhopfs; 

cs;sd.  
II. ,e;jpahtpy; 42 nkhopfs; 10000 f;Fk; Fiwthd kf;fshy; kl;LNk 

Ngrg;gLfpd;wd. 
a. I, II rhp     b. I kl;Lk; rhp  
c. II kl;Lk; rhp   d. ,uz;Lk; jtW 

 
47. Of the UNESCO’s five levels of languages risk, Vulnerable languages, not 

spoken by children outside the home are __________ 
a. 600 languages  b. 646 languages  c. 527 languages  d. 577 languages 
And];Nfhtpd; fUj;Jg;gb Mgj;jhd nkhopfspd; Ie;J epiyfspy;> 
Foe;ijfs; Ngrhj epr;rakhf Mgj;J epiyapy; cs;s nkhopfspd; 
vz;zpf;if _________. 
a. 600 nkhopfs;  b. 646 nkhopfs; c. 527 nkhopfs;  d. 577 nkhopfs;  

 
48. Choose the correct statements about Drowning 

i. Drowning is the 4th leading cause of Unintentional injury death 
worldwide.  

ii. It accounts for 7% of all injury related deaths.  
iii. In Bangladesh, 17,000 children drown annually that’s 46 a day.  
a. i, ii, iii  b. i, iii  c. ii, iii  d. i, ii 
ePhpy; %o;Fjy; Fwpj;j $w;Wfspy; rhpahdJ vJ?  
i. cyfstpy; ePhpy; %o;Fjy; vd;gJ fhak; Vw;gl;L kuzk; Vw;gLtjpy; 

4tJ Kf;fpa fhuzpahFk;. 
ii. fhak; Vw;gl;L kuzkiljypy; %o;Fjy; 7% MFk;. 
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iii. tq;fhsNjrj;jpy; xU Mz;bw;F 17>000 Foe;ijfs; ePhpy; %o;fp 
,wf;fpd;wdh;.  

a. i, ii, iii  b. i, iii  c. ii, iii  d. i, ii 
49. Consider the following statements: 

I. Destruction of trees is increasing the effect of global warming. 
II. The extinction of animals are severely disrupting food webs and 

causing an increase in pests. 
a. Both are correct   b. I only is correct  
c. II only is correct   d. Both are incorrect 
gpd;tUk; thf;fpaq;fis ftdpf;f  
I. kuq;fis mopg;gjhy; cyf ntg;gkhjypd; tpisit mjpfhpj;J 

tUfpwJ.  
II.  tpyq;fpdq;fspd; mopT czT tiyfisg; ghjpj;J njhy;iy jUk; 
caphpdq;fspd; vz;zpf;ifia mjpfhpf;fpwJ.  
a. ,uz;Lk; rhp    b. I kl;Lk; rhp  
c. II kl;Lk; rhp    d. ,uz;Lk; jtW  
 

50. Match the following: 
A. Grasslands     1. Aborigines  
B. Tropical Deserts    2. Kyrghizs  
C. Mountainous Region   3. Gujjar  
D. Monsoon Region    4. Todas  
E. Artic cold regions     5. Chukchi 
nghUj;Jf. 
A. Gy;ntsp     1. mghhp[pd;]; 
B. ntg;gkz;ly ghiytsq;fs;  2. fph;fp]; 
C. kiyg; gpuNjrk;    3. F[;[hh; 
D. gUtf;fhw;W gpuNjrk;   4. Njhlh;fs; 
E. JUt Fsph; gpuNjrk;   5. Rf;fp 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c. 2 1 3 4 5 
d. 5 1 4 2 3 
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MONTH OF NOVEMBER 
TEST III 

 

1 2 3 4 5 6 7 8 9 10 

A C D B D A D A D B 
11 12 13 14 15 16 17 18 19 20 
A D D A A D A A D C 
21 22 23 24 25 26 27 28 29 30 

C A A C A D C B A B 
31 32 33 34 35 36 37 38 39 40 
C D A A A A B B B C 
41 42 43 44 45 46 47 48 49 50 

C C D A D A A C A C 
 
 


